MODAL VERBS OF DEDUCTION

Match each modal verb to its corresponding box.

must could might

can’t may

Impossible 0% Possible 50 %

True 100%

Complete the sentence with a modal verb:

must could might

This animal has got a tail and wings. It

may can’t

be a bird.

This animal has got fangs and fur. It

be a tiger.

This animal has got fins and scales. It

be a dog.

This animal has got a beak and feathers. It

It's possible that this is a rabbit. It

be a toucan.

be a rabbit.

It's impossible that this is a frog. It

be a frog.

I'm sure that this is an elephant. It

be an elephant.

It's impossible that this is a camel. It

be a camel.

I'm sure that this is a parrot. It be a parrot.

It's possible that this is a crocodile. It

be a crocodile.

I'm sure that this is a cat. It be a cat.
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